Brain Teasers Puzzles Questions with Answers Pdf

Questions : 1

Which is the missing section?

C D

Ans: A

Looking down, the number of lines increases by 1 each time. Looking across, the number of

lines also increases by 1, but the lines alternate horizontally and vertically.

Questions : 2



Which is the missing square?
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Ans: D

There is one each of the four different symbols in each horizontal and vertical line. i.e. one large
white circle, two medium size white circles (one with a small white circle above it) and one black

circle.

Questions : 3



What comes next?

WBHEW?
CACRGA

Ans: C

The arrow moves two corners clockwise, the large circle three corners clockwise, the black dot
three corners anti clockwise, the longer line one corner clockwise and the shorter line one

corner clockwise.

Questions : 4



Which is the odd one out?
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A is the same as E, and C is the same as D.

Ans: B

Questions : 5

Which is the missing piece?

Ol @®@|A]|O ®| O
"IN 1E=A

O|®
A Al T
O ® O

@ O| |O|P




Ans: C

Start at the top left hand square and work along the top and then back along the second row

etc. in the sequence white circle, black circle, triangle.
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